= AH O
M = 0O & AF & & A A
201THE 20IA UBHE| N SIIaME ~ SIS ME
SA S0 ME
MM SE 0KH
Cel: sEJ|EI|EeY (ctel: &Sl
_ _ _ AT
2N - FHH..2A(SH) - HIEAMY - BHAS (] AFoH IOﬂ/I\_FOH Hl =2
=01J| 2 MF 2,906,979 3,821,802 A914,823
2 134,940
2 295,000
2 40,579
= 122,004
2 0,384,456
S& oSy 1,776,284 1,894,702 A118,418
2 56,410
2 295,000
=2 40,579
< 20,404
2 1,433,891
=xJ|a)|uey 616,183 554,650 61,533
2 200,000
2 17,523
= 7,800
2 390,860
ANAIHSY 96,460 117,535 A21,075
101 Q1A 23,017 05,612 A2,595
04 JIZM2ENSE A 23,017 25,612 A2.595
OXNAEXSAIL 34,6108 « 501 * 88 15,229
OZOISAtZ2I 02
34,6102 * 491 x 56.252 7,788
201 Lsr29Y| 52,579 53,782 A 1,203
01 A2 22l 49,329 50,632 A 1,303
OXNATFE QE=AZ (M) 46,349
OREXAZ 467,5008 = 8ha = 13 3,740
02 HXE  451,9709 * 16.56Ma = 23] 14,970
oHsR 02,7002 * 3,330AF X} 8,991
OHGHESM  150,0008 * 16.56ha * 2.683] 6,658
00/ 2 43 362,000 * 16.56ha * 23] 11,990
OZOISA ER2(ZHIHC)HE
150,0002 * 4.66574 A 700
Ol =] 480
OB mol= o i3
60,0002 * 891 * 13| 480
olgxe] 1,800
ONYEESYH 2A)| AXE
450,0008 * 22 * 23] 1,800
2 2229 3,250 3,150 100
O[A & =Y SXHl] 3,250
OY==H SAH 500,0008! * ACH 2,000
OXDISA A& KXt 416,50090 * 3 1,250
206 X2 20,864 24,101 3,237
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01 24l 20,864 24,101 N3,237
OAIEN (M, &)ed Ha
970,000& * 16.56ha 16,064
OXDISH 29 MS(HI3 )
120,000 * 5& * 83| 4,800
SEXZIIBEN 400,000 300,000 100,000
z 200,000
= 200,000
401 Al&H|LLCHY| 400,000 300,000 100,000
z 200,000
= 200,000
01 Al&H] 400,000 295,400 104,600
OsgI|I=4EH sgoAMEA AMESAL
400,000,0002 * 1= 400,000
z 200,000
= 200,000
Hetol2=erats &0 13,600 14,000 A 400
[= 6,800
= 6,800
201 LEt2HH| 12,700 12,000 700
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01 AL 22/t 12,700 12,000 700
@ RiIE=1.] 12,700
ot 2sgurats &JI2d
508,0008 * 25& 12,700
[= 6,350
= 6,350
202 04| 900 2,000 A1,100
[= 450
= 450
01 2o 900 2,000 A1,100
Oustol=zgeras &It o
36,0002 * 2501 * 13| 900
[= 450
= 450
MIle ¥ 25284 J2X 25 XL 2,000 2,000 0
[ 1,000
= 1,000
201 LEt2AH| 2,000 2,000 0
[~ 1,000
= 1,000
01 AFS 22/ 2,000 2,000 0
OMIIz & ==X BX 7S
500,0002 * 43 2,000
[ 1,000
= 1,000
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seloags 29 17,646 30,538 A 12,892
= 8,823
2 8,823
101 Q11| 6,046 20,268 A 14,222
= 3,023
2 3,023
04 JIAH2ZRSES 6,046 20,268 A 14,222
OSoIASANERS 2R
44,4502 * 191 * 136 6,046
= 3,023
2 3,023
201 Y2 Y| 11,600 10,270 1,330
= 5,800
= 5,800
01 AFR22lH] 8,000 8,000 0
Osgoags 28 7Y
2,000,000% * 40H 2 8,000
= 4,000
2 4,000
02 ZZ2YH| 3,600 2,270 1,330
Osgoags 29 300,000 * 128 3,600
2 1,800
2 1,800
BetYsOlE HE AHlIA 17,400 17,400 0
= 8,700
2 8,700
201 Y2 Y| 8,400 8,400 0
= 4,200
2 4,200
01 Attt 8,400 8,400 0
OnsY =8 S N~ 29
10,0009 * 75 « 12 8,400
= 4,200
2 4,200
206 T2 9,000 9,000 0
= 4,500
2 4,500
01 MEHl 9,000 9,000 0
OBStY=ET MUlA 29 T2
10,0008 * 9% * 103 9,000
= 4,500
2 4,500
SENCAY 2 10,000 54,000 144,000
201 ety 5,000 49,500 144,500
01 At 22l 5,000 49,500 A44,500
ONTAY S22 MZ 2,500,008 * 25 5,000
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202 O4Hl 5,000 4,500 500
01 =LA bl 5,000 4,500 500
OsEXNEZAY EE20I
20,000 * 591 = 50 5,000
EAb2tel 59,077 19,177 39,900
101 el H] 4,077 2,077 2,000
04 JIZtMZ22XSE+ 4,077 2,077 2,000
OFA & F# B4 02
34,6108 * 221 = 303l 2,077
OFAstEt BAS X4 7
500,000& * 45 2,000
401 AlEHIZ 2 10,000 9,000 1,000
01 Al&HI 10,000 9,000 1,000
OBAEY 5842 =4
10,000& * 1,000m 10,000
405 KHAHFESHI 45,000 900 44,100
01 T ESSHSHI 45,000 900 44,100
OXNEXE wH 45,000,000 = 1CH 45,000
oI gt = A 419,830 440,405 N20,575
=3t =H A 2 298,930 319,690 A 20,760
201 et 297,180 317,890 220,710
01 AtS22lHl 16,460 16,220 240
ORs=H A 28 22|
7,000& » 1521 » 17.33 1,820
O=3 MAlZ HZ L FEHE
60,0004 * 1343 8,040
O&2&s ME(2IEX S) 3,300,0008 * 28 6,600
02 2323l 1,820 0 1,820
O=sEH 2HI| K=Y
1,4203 » 14.242 » 904 1,820
03 A2 HI 278,900 301,670 222,770
OlHEAE 2H0IH Xt
1,000,000 * 2002 2,000
Ollgs: 29 9 650,000& * 20 13,000
O=3 £&8= &4x % oA
5,000,000& * 1= 5,000
O=3t OFATANE =4
80,000& * 3& * 1004 2,400
OZHE ~E€E M 10,000,000& * 2% 20,000
O=HNE HEYAXZ 33,000,000& * 14 33,000
O=3&zZ2e=9H| 22,000,000 * 14 22,000
O=s=H 2LH (B2 £)
4,500,000& * 38 13,500
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O2F=HE2 A2 22 3,0008 * 50,0004 150,000
OFHAZ e Z120| =4
18,000,000 14l 18,000
206 X 24l 1,750 1,800 A50
01 24l 1,750 1,800 A50
= MAS TH MES(B3 )
64,780 » 27% 1,750
=3t THHH 117,085 115,891 1,194
101 Q14| 68,528 65,759 2,769
04 JIZH22RNEES 68,528 65,759 2,769
O=23% =M 25 HH o2
34,610 = 1201  165Y 68,528
201 L2 AH| 8,595 8,469 126
02 222%H| 8,595 8,469 126
O[A&ZHISXIH] 2,100
O2FIMAAlE L EHI KX
700,000 * 3& 2,100
Ole2H]] 6,495
O=23HMEl vt 224l 1,140 * 5,697 ¢ 6,495
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01 24l 39,962 41,663 21,701
O=23=2 1Y 3,0008 * 43 » 2003 2,400
O=23tl 2& 2 18,3008 * 3& * 380% 20,862
O=23th 32 2 55008 * 4= + 15004 3,300
O=3=2M= 32 7Y 20,0002 * 10074 2,000
O2FEE M= W2 60,0002 » 90& 5,400
OKLMAM 2 30,0008 » 25& * 8% 6,000
23 553 29 3,815 4,824 A1,009
201 LEt2HH| 1,700 2,520 A820
01 AFRZt2lH] 1,700 2,520 A 820
O=23% =53 29| 50,0002 * 143] 700
O=s&3 Ast xt2k Xt 1,000,000 = 1CH 1,000
206 K24l 1,800 1,800 0
01 24l 1,800 1,800 0
O=53 &5 M2 10,0002 * 10& * 183 1,800
301 Lt Az 315 504 A 189
10 HAIAHI 2 A2 315 504 A 189
Oss3g Aas 34 7,000 * 4501 * 1Al 315
SR AN 156,787 141,043 15,744
= 42,650
[= 5,524
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2 5,350
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250,0002! * 991 * 23] 4,500
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2 10,000
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Osgllzaged o
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= 10,000
2 10,000
201 Yereg| 3,000 2,000 1,000
= 1,500
2 1,500
01 AtR2elt| 3,000 2,000 1,000
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= 1,500
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301 YLrBAZ 2,000 0 2,000
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OHODZESHZDS &4 4
50,0008 * 10% * 43l 2,000
= 1,000
2 1,000
HeXT SSUMY AFTIIZ Jens 2,000 3,000 A 1,000
= 1,000
2 1,000
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& 25,000
2 25,000
01 PIAXZLE 50,000 0 50,000
OsZABAML BOIFY X2
50,000,000& * 1JHA 50,000
= 25,000




M s€lis4dH
Xz == oladAxz A
S = TS

Cel: SEMETE CERT
S . "M . O (5 HEAY . N2 Al OH HEE H| =2t
| = 25,000
SELQ M2 6,000 6,000 0
= 3,000
= 3,000
307 QI2H0| A 6,000 6,000 0
= 3,000
= 3,000
02 2ItAAE X 6,000 6,000 0
OsELMaiA 2,000,000 * 3002 6,000
= 3,000
= 3,000
sZol Azze] 14,000 14,000 0
307 B12t0| 14,000 14,000
02 QIZ+AAMEX 14,000 14,000
Osgolzrzdze|a 24 N
2,000,000& * 7942 14,000
HA=o 0 45,473 44,494
101 2124 H| 1,731 1,731
04 JIZtMZ22XRSE+ 1,731 1,731
Os¢&28lts u=sd 29 o2y
34,6102 * 121 = 50 1,731
201 ety 2,612 15,309 A12,697
01 AbR22lH| 1,750 14,615 A 12,865
Od=ge s 23 50,000& = 158 750
Os&280ts usa 22 100,000 * 58 500
Olgxz] 500
Os4&2ltE s SFUSE Xz
500,000& = 1CH 500
02 2Z223H| 862 694 168
ol¢zul] 382
Os4&EItE NS4 A8 o2
1,610& * 2374 382
O[AIE& & BIRXH] 480
Os&28Jt34 FHl= XYl
100,000& * 4.8F 480
206 M2 H 25,700 25,020 680
01 M=Hl 25,700 25,020 680
OWAd=ge s sz
20,000& * 15Q1 * 1004t 3,000
Os4&28Jt8 = Mg 7,0008 * 2021 * 53] 700
O=X& & -4 =2us Mz
400,000& * 440t= 17,600
OMER0 Wws ME 20,0008 * 200! « 113 4,400
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2A: sgI=HH
MM == oA
ol SEMETY o
SN C(BH) - NRAY - HES Aro e 2
301 LEtEAZ 15,430 2,029 13,401
10 At HIE& =3 15,430 2,029 13,401
OWd=sgeus &AL =4
7,0008 * 1521 = 1004 1,050
Osd&2lts sy 8dus B4
50,000& = 1,500
OWAd=gus ZA+EY 3,000
ol 70,000 = 1AI2F » 53| = 6Bt 2,100
o=t 30,000& * 2AI2t = 23] = 7 5048t 900
Os&E8itsns ZAsY 1,300
ol 70,0003 * 1A[2} 700
OoOx1 30,000& * 2Al2¢ 600
OMEAN2Z A= 1,100
ol 70,0003 = 1Al2F 770
o=t 30,000& * 1A[2F 330
Ox=XN&E8HEINE MY 4,400
ol 70,0003 * 1Al2} 3,080
Ox1 30,000& * 2AI2t 1,320
Ox=XNagdH&slus EXLZAME 3,080
ol 50,0003 * 1Al2t 2,200
o=t 20,000& * 2A[2+ 880
s&2 IISAES 25,000 22,500 2,500
402 U2t XH=01A 25,000 22,500 2,500
01 SIAGEEX 25,000 22,500 2,500
Os&ESItESaEs JIetxd X
10,000,000& = 5084 = 50/100 25,000
M=ol d2sgiied us 1,800 1,800 0
= 900
= 900
206 M=l 1,600 1,600 0
= 800
= 800
01 =4l 1,600 1,600 0
Od=gosgiled s ME
20,000& = 40921 * 23| 1,600
= 800
= 800
301 EtB A= 200 0 200
= 100
= 100
10 SALAHIEA = 200 0 200
Ol =gosgiigd us 2A=g
100,000& = 200
= 100




M s€lis4dH
Xz == oladAxz A
S = TS

Cel: ZEMET (e &
- _ _ ME
SN -3 S2ARAH) - MFAY - BES Ol &t oH 0] Ak o Hlns2
| = 100
MEINM JIEUHDS 1,820 1,820 0
= 910
2 910
206 M2l 1,820 1,820 0
= 910
2 910
01 Ml 1,820 1,820 0
OMEINEISUHDS W
5.2008! * 35021 * 13 1,820
2 910
2 910
SEENEE 231,690 220,651 11,089
2 10,000
= 7,080
2 214,610
SISO SRS 82,690 70,281 12,409
201 ger2g 5,000 6.120 ~1,120
01 AtR2eld 5,000 6,120 1,120

|
olgdxz] 5,000
OststHMald XN&d tHus NS
1,000,000& = 1CH = 2& = 2EX 4,000

OsgJlsAgs A& Ast g X

1,000,008 * 10§ * 12 1,000
202 01t 3,000 2,700 300
01 =LH0it] 3,000 2,700 300
OBEEHSL BUEE
20,0008 * 39! * 502 3,000
206 MHZHl 26,000 23,400 2,600
01 M2 26,000 23,400 2,600
MBS T,82 =3NS WE
20,0008 * 6509! * 23 26,000
301 YerEA 45,290 34,661 10,629
10 BAFAIHI 2 A2 45,290 34,661 10,629
OMEBHESIZ SHEI DS SASS 2,000
oJe 70,0002 * 102! * 23] 1,400
oEn 30,0008 * 109! * 23l 600
OsII=Ngs 18 LA+
70,0008 * 2¢! 140
OMBNHES = AU Z4 24
50,0008 * 1009! 5,000

091 » 4CHXH| 4,000

OslstHMaE =& - S8U=s =4 24,080
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2A: sgI=HH
MM == 0l2ASA

Gol: SEETR (B9 &2
_ _ SIEN
SAN-ZH-SA(FA) - NFAY - BES O AF K Ofl At ot HwsZ
OMEI A3 7,008 * 53001 * 23 7,420
OSENEX 3 7,0002 * 53021 * 23| 7,420
Os¢ZYIS 7,0008 * 60001 * 23] 8,400
O4-Hsl & 15|
7,0008 * 300! * 2943| * 28] 840
OBft0is N 24 7,0008 * 709! * 23] 980
Osll=ntes 18 24
7,00020 * 7001 * 13] 490
Osoioras &M
30,0008 * 1091 * 34 A 900
O=steis S22
10,0008 * 105 * 3343 3,000
OMEINN ANSES ES24
50,0008 * 30% 1,500
OS&LAEY 5L - € 1T HABY 2,600
0EY 10,0002 * 202! 2,000
0% 30,0008 * 200! 600
OBI0ls E2,5 18 AP
30,0008 * 202! 600
307 212H0I 3,400 3,400 0
04 DIRISALRE 3,400 3,400 0
O4-H3I 2 A2 1,700,0002 * 23] 3,400
= ofolIrH 3 40,000 40,000 0
307 212H0I 40,000 40,000 0
04 QIISHALR X 40,000 40,000 0
Osi0l t3l 40,000,0008 * 18l 40,000
sololcHAIBl e aHelels 29,600 35,400 A5,800
202 01l 6,000 6,000 0
04 =M 301t 6,000 6,000 0
O=THH Heleis oz
3,000,002 * 20! * 120} 6,000
301 YBrEAZ 23,600 29,400 5,800
07 BI2roI=2l0f| 23,600 29,400 A5,800
OsetolcH i elel 23,600,008 * 14! 23,600
Ngsol StSSHSL(SENTRE, 4-Hal) 8,000 8,000 0
2 4,000
2 4,000
307 212+0| 8,000 8,000 0
= 4,000
2 4,000
02 QIAAMBE 8,000 8,000 0
ON oIS S CHH S 4 (4-Hal )
3,000,0008 * 143! 3,000




M s€lis4dH
Xz == oladAxz A
oS/ S e =

=
el SHSEHS A (e @8

SN CR(EH) - NRAY - BES el

[
2
2
R
12
o
£l
0l%
IS

M H
o1
S
S

OXNgsgel

o
o

HHE8(sE=XZX3l)

5,000,000& * 1243l 5,000

M A
)
o
S
)

st 4-H HHESs N 2,000 2,000 0

H A
o
S
3

307 GI12t0ld 2,000 2,000 0

H HI
o
S
3

S 2,000 2,000 0

tRNgs X
2,000,000& = 1JH=l 2,000

O

!

B0
|

T

for

=

H A
o
S
3

d=4-H MES s 10,000 10,000 0

M A
o
o
S
)

402 2I2tt=01 A 10,000 10,000 0

M A
o
o
S
)

01 2ItXEE X 10,000 10,000 0
Ogs4Hal2 d=s XN& 5,000,000 = 2¢! 10,000

MJ M
o
=)
S
3

O
I
"
m
e
>
HO
H0
OF
t
=
0
o
o
S

11,920 3,680

HH
)
©
N
S

307 2120l & 15,600 11,920 3,680

M H
]
©
N,
S

EN 15,600 11,920 3,680

o
>
for
et
Ho
40
OF
1]
>
10

25,0003 * 624¢! 15,600

M H
S
©
N
S

Srsgdol dNsHH 4,800 4,800 0

M N
~
~
o
S

301 Let2a= 4,800 4,800 0

Ml 1
n
N
S
S

o 4,800 4,800 0
2ol MES

2,00

o
~
O e
oy
n re
o A
o

A
e

&
0,000& = 321 * 80/100 4,800




SN
X XH .
S Tt

el

sZJl=4H

=)

==
ststi=sd

== oEsy

_ _ _ HET
A -3 -H2A(SH) - HEAMY - BES e '@,‘;OH Hos
[ 2,400
2 2,400
olEEH AEAS 39,000 38,250 750
307 QI2HOIA 30,000 30,000 0
02 2I2tH 30,000 30,000 0
O=g SAHIA XIJALS
30,000,000& * 143 30,000
402 BI2ERHE0 9,000 8,250 750
01 BI2ER 9,000 8,250 750
QMg DFAXD] X2 A
4,500,000 = 402 = 50% 9,000
=9 JlsoHe 932,025 1,729,471 AT97,446
= 78,530
[ 101,600
2 751,895
AII=E2ESAY 300,000 896,000 A596,000
= 40,000
[ 100,000
= 160,000
AR RIIBE AES AY 24,000 24,000 0
[ 12,000
2 12,000
402 212+Xt 24,000 24,000 0
= 12,000
2 12,000
01 RIZIH=EE 24,000 24,000 0
O=H a3s AlY
30,000,0009! = 124 = 80/100 24,000
[ 12,000
2 12,000
ZTHE B SO THHH Al 16,000 16,000 0
= 8,000
> 8,000
402 QI+ XHEO0IA 16,000 16,000 0
[ 8,000
= 8,000
01 RI2iRt=E X 16,000 16,000 0
O ZOITHEY &0 AlY
20,000,000& * 1JHA = 80/100 16,000
= 8,000
> 8,000
M2 A2 E Z xS AY 8,000 0 8,000
[ 4,000
i 4,000
402 BI2EXHEO0 A 8,000 0 8,000




M s€lis4dH
M g Jl=oHy
Sel MDI=ESAI8EALE

SNBSS - MEAY - BES

[
2

20
B
2

EURGH

4,000
4,000

01 QARZRE
N ME WEE A

10,000,000& = 1JH2 * 80/100

U

8,000

8,000

4,000
4,000

8,000

A0 =2 AlE

M

30,000

15,000
15,000

30,000

402 2IZtt=01 A

M

30,000

15,000
15,000

30,000

01 2ItXEEx
A
.

NS AI® 30,000,000 * 1JHA

M

30,000

30,000

15,000
15,000

30,000

ANE30 st QUHREZ AlY

M

50,000

25,000
25,000

40,000

10,000

402 2IZ2tt=01&

M

50,000

25,000
25,000

40,000

10,000

=]
ol

2
e
r
x>
M

S
Al

OAl =& 04

ASUNHNEZAY

50,000,000& = 1A

M

50,000

50,000

25,000
25,000

40,000

10,000

Ml

32,000

16,000
16,000

32,000

M H1

32,000

16,000
16,000

32,000

MAICHT] 24

40,000,000 * 1JHA = 80%

Ml

32,000

32,000

16,000
16,000

32,000

U

140,000

60,000
80,000

140,000

402 BI2HKHE01&

EUNCH

140,000

60,000
80,000

140,000

140,000

140,000
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M s€lis4dH
M g Jl=oHy

& ADJI=ESAlgEAY (&9 ®M
_ _ HdE T =
SH-EFHHA(FA) - NIRAE - BES Of] AF R '@E% Hos
OXdgEca=s Al
200,000,000& * 1J§4& = 70/100 140,000
[ 60,000
= 80,000
Y =sSHBI|=NH 96,922 70,824 26,098
= 38,530
= 58,392
HoSEACA 2 16,000 14,000 2,000
= 8,000
= 8,000
101 elH| 6,922 6,922 0
= 3,461
i 3,461
04 JIZtMZ22XsSE+ 6,922 6,922 0
OH giis fZE=2Y 22
34,6102 = 121 = 200 6,922
= 3,461
= 3,461
201 ety 3,828 2,328 1,500
= 1,914
= 1,914
01 AFR22lH| 3,828 2,328 1,500
OH gais Hzx2g
38,280& * 105 = 108 3,828
= 1,914
i 1,914
206 M=l 3,250 4,750 A 1,500
= 1,625
= 1,625
01 =4l 3,250 4,750 A 1,500
OH gdis HEEZR2YE M=
50,000& * 108 * 2& 1,000
= 500
2 500
OHgols 28X 2% ME
250,000& * 9IH A 2,250
= 1,125
= 1,125
405 ItHatE S| 2,000 0 2,000
= 1,000
= 1,000
01 &L SEZFHSHI 2,000 0 2,000
Odoils &z4a HH2  2,000,0008 * 15 2,000
= 1,000
= 1,000
SgdELY 29 33,782 46,824 A 13,042
= 6,960
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M s€lis4dH
M g Jl=oHy

el tetEsEII=NE (98

_ _ _ N E
SN FB - S2A(3) - MEAY - BES 0] & 08 e HRE2
= 26,622
101 o124t 19,382 19,382 0
04 JIAMIRIES S 19,382 19,382 0
OSBBASELAT 0124Y|
34,6102 * 201 * 280 19,382
201 Ler29y| 5,480 7,232 A1,752
= 2,500
2 2,980
01 At 5,480 7,232 A1,752
Olm=y] 480
OEUATA 29 HI=(XHAl)
120,0002 * 491 * 13| 480
OEgA™ASY 125,0002 * 40% 5,000
= 2,500
z 2,500
206 T2 HI 8,920 6,800 2,120
= 4,460
2 4,460
01 Mzl 8,920 6,800 2,120
OELATALY W2 89,2002 * 100% 8,920
= 4,460
2 4,460
NS ASH AlY 20,000 0 20,000
= 10,000
z 10,000
101 o124 7,000 0 7,000
= 3,500
2 3,500
04 JIRHMIRIES S 7,000 0 7,000
OFZ Y 2% oL
4,65020 * 201 * 101 7,000
= 3,500
z 3,500
201 Ler2%y| 3,000 0 3,000
= 1,500
2 1,500
01 AtRZell 3,000 0 3,000
OXT s 29 150,0002 * 20% 3,000
= 1,500
2 1,500
206 W= HI 10,000 0 10,000
= 5,000
2 5,000
01 MEHl 10,000 0 10,000
OXHLa 2% W2 200,0002 * 50% 10,000
= 5,000
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D s9Jl=dH
Csg Jlsng
D sEsEEIIEXE

O O Lo

BSA - MG (B H) - MEBAIY - BAH2 Al OH &EIE Hm=2
SN HH . GA(BH) - NEAY - B2 Sh Ofl & o e
iy 5,000
SHEFA 2Lla 29 7,140 10,000 22,860
= 3,570
[ 3,570
201 et2gh| 2,140 2,000 140
= 1,070
= 1,070
01 AP 2eltl 2,140 2,000 140
Ozrletd=sarae|a 29 214,000& = 10& 2,140
= 1,070
o 1,070
206 M =4l 5,000 8,000 23,000
= 2,500
= 2,500
01 =4l 5,000 8,000 A3,000
OFeY SMZY 282
50,000& = 10& * 10& 5,000
= 2,500
iy 2,500
HolSSE X J=X3 20,000 0 20,000
= 10,000
o 10,000
206 M= Hl 7,000 0 7,000
= 3,500
= 3,500
01 M=l 7,000 0 7,000
OYoi=8&dst Mz #
3,500,000& = 2J4 A 7,000
= 3,500
o 3,500
405 Kot S| 13,000 0 13,000
= 6,500
iy 6,500
01 XM =EFHSHI 13,000 0 13,000
OYoi=8&as &yl #
13,000,000& * 15 13,000
= 6,500
= 6,500
Al E JlesEa 95,126 75,046 20,080
HANE 2H 4,431 12,261 A7,830
101 Q124 4| 1,731 1,731 0
04 JI2ZtHZ2EeNsE2 1,731 1,731 0
OBHE&HIn MAEZ 89 o2
34,6102 * 521 = 10 1,731
201 et H| 1,200 1,080 120
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L sel| S ME
sl JlE Y
D AYRS ) a2

S M. (3] H) SAlY . HA 2 AF ol &EIE =
- T\ 2 - = oS = &= 04| AFOH S o
Ongz BE2E N2 AZAE
8,000,000& * 2IHA = 70% 11,200
s THHHSHX =48 AlY 42,000 0 42,000
402 DIt X =01 A 42,000 0 42,000
01 QIZ2tXE22 X 42,000 0 42,000
OJlsE% THEHEX 24 Al
60,000,000& * 1I0HA * 70% 42,000
=25 SASA THHHAIE 8,500 0 8,500
206 M =4l 8,500 0 8,500
01 M=zl 8,500 0 8,500
=23 SAESA M AlYE M=
1,700,000& * 5 A 8,500
AWE=S MM J=E3 142,757 192,924 AB0,167
& 1,600
ey 141,157
dHES ASEZE 29 5,477 6,521 21,044
101 eIl 2,077 3,461 A1,384
04 JIZtMZ22XsSEx 2,077 3,461 AN 1,384
ONEEFH MATY ¥ Fum
4,6108 + 321 » 22 + 103 2,077
201 2EtE3| 400 360 40
01 A2 22l 400 360 40
olget+=&dl] 400
OX3SEEH TH JtA P2
40,000& ~ 108 400
206 M= Hl 3,000 2,700 300
01 M=l 3,000 2,700 300
OZHMEZ2 ASANEE 2ENE
50,000& = 10& = 1ha * 63 3,000
HE s 29 2,080 7,403 A5,323
101 1244 520 693 A173
04 JI2ZtHMZ22hsE+ 520 693 A173
OBZHotA =t ol
34,6102 = 121 x 15 520
201 LBt249H| 1,260 1,710 A450
01 At=2teltl 1,260 1,710 A 450
OZIE MFE=F 20,000& = 10& 200
OJieral &dl Al 250,000& * 2& 500
Ofsal sEI7Y 7003 * 8000H 560
405 XH&HE SHI 300 5,000 24,700
01 A& EEFHSHI 300 5,000 A4,700
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M s€lis4dH
M g Jl=oHy

Sl RKTE MM JE2S (9l 2
_ _ _ Muo
SH-EH . C(BH) - NRAY - BES Off &F oA il b o bRz
OBalI| SHI|(HUOZEIH)
300,000 * 14 300
P51 WSHIYHCSGT Al 7,000 7,000 0
402 BIHXHEOIH 7,000 7,000 0
01 eIATEBE 7,000 7,000 0
OS&I ASBYHE XA
10,000,00080 * 1IHEFXI * 70% 7,000
KT 2LEHHS THTHH Al 10,000 15,000 A5,000
402 ©I2EXHZO0|H 10,000 15,000 A5,000
01 PIATZBE 10,000 15,000 A5,000
OXNTRSU3 S B4THHY Al
10,000,0002 * 2744 * 50% 10,000
B ZAOY B4 X 45,000 49,500 A4,500
402 DI 0| 45,000 49,500 A4,500
01 DIAXERE 45,000 49,500 A4,500
Ol ZAoHY IB4+= K&
90,0002 * 100ha * 50/100 45,000
NS0 S8e RO 45,200 0 45,200
= 1,600
2 43,600
402 BIZHXHE 0| 45,200 0 45,200
= 1,600
2 43,600
01 QIAR=EE 45,200 0 45,200
ONMRI0 BUESB2IST E4
20,000,008 * 2HEHK| * 70% 28,000
ONBLRMNHS YHMEBNEL Al
10,000,002 * 2HELXI * 70% 14,000
ONETHATHIN X E SH S LRI &AL
4,000,000 * 1742 * 80/100 3,200
= 1,600
2 1,600
BYNFHLASHSTHE X T4 14,000 0 14,000
402 DI 0| 14,000 0 14,000
01 DIAXERE 14,000 0 14,000
OBFFE ASHE MHSX £4
20,000,0008 * 1HEFX| * 70% 14,000
DILIS S 2 B2 S A Al 14,000 0 14,000
402 BIZHXHE 0| 14,000 0 14,000
01 DIAXERE 14,000 0 14,000
OnILIS S 3B 38 AlY
20,000,008 * 1HEHX| * 70% 14,000
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ool Same Iz (649l &2
: - . rSIEL== =
SN B SRA(SIH) - MBAY - BAS 04l &k 24 e HlnE2
SsE=e Il 297,220 494,677 A197,457
ss2x2 S4 6,611 8,342 A1,731
101 Q1214 3,461 5,192 A1,731
04 JARZRASES 3,461 5,192 A1,731
OMSHIZ2Y oy
34,6108 * 591 * 202 3,461
206 T 2H| 3,150 3,150 0
01 M2l 3,150 3,150 0
OMAIEE 29 W& 135,008 + 103 1,350
OMSH ASAYE 29 W2
45,0002 * 105 * 43| 1,800
MEY SH2HN N 277,000 398,610 A121,610
201 Y2 Y| 1,500 3,510 ~2,010
02 T2l 1,500 1,350 150
O[N&EBISTHI] 1,500
OHEIEMBRIM FH S
150,0008 * 103 1,500
206 T 2H| 265,000 393,500 A 128,500
01 M2l 265,000 393,500 128,500
OFFel Mo =T BN X
1,0008 * 240,000k 240,000
OXBASMREA 2Y HIXI 7L
300,0002! * 83.333% 25,000
402 QI XHZOIH 10,500 0 10,500
01 2AX=EE 10,500 0 10,500
OXHASUSMN DIME NSBZIIEX A
= 3,000,0002 * 3IHA * 50% 4,500
O=0ISAEXS THHHAIE
2,400,00021 * Sha * 50% 6,000
IS 2 13,609 31,975 A 18,366
101 Q11| 7,505 17,305 £9,800
04 JIAH22RSES 7,505 17,305 ~9,800
OEXHYA 29 012
34,6102 * 201  108.42% 7,505
201 Y2 y| 6,104 7,470 A1,366
02 T2l 6,104 5,040 1,064
OXXYHLA ZYl SXUl  200,0008 + 105 2,000
ODT0 YD =5t24 YR 2|
1,14080 * 104 * 24AI2¢ + 1502 4,104
HHSAAH (XD 198,670 197,629 1,041
PN 198,670 189,619 9,051
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2N sgII=HH
HH: HHR2IHH (sEXSAD)
&t JI=3l
S HE - S(EH) - NRAY - BES 01l &k o S
0f 4 o
sEXE J123Hl 182,887 173,836
201 Let2d| 133,037 132,886
01 AtE22|HI 40,466 40,306
Olget=+&Hl] 11,700
ORN2ZE SHUAHL 11,700,000& * 14 11,700
ol2g=¢] 19,240
OLAxY 40,0002 » 1162 4,640
O=&=H 40,0002 » 3652 14,600
Ol=&l] 9,526
ORN2ZE SHUAHL 9,526,000& » 14 9,526
02 2323l 92,571 92,580
Ool[22e3 ¢ WAl 56,583
ORHERZ 2508 = 22,5000H 5,625
oXdatea 36,000& * 9CH * 123 3,888
odIIR3 2,789,960& » 12& 33,480
Oa+ER= 585,000& = 12& 7,020
O=YUNEE HEEASE
45,0003 ~ 1CH » 123 540
OOIEXtEE= 60,000& * 3CH 180
o&J|etd2te| eyl 360,000& * 123l 4,320
OFIIMH| QHHY +42
630,000& * 13 630
OLXHIIZA =2 900,000& * 13 900
O[¢zl] 5,658
OHHHI|HZ Y|
1,037.5& = 200 * 8AI2+ * 113.61& * 304 5,658
e
O[AMEEBIRXIYI] 15,480
OXAMEHI(SAD], ZSHBA )R
360,000 = 9UH * 23l 6,480
O E AR X HI 9,000
o= 1,575,000& * 4= 6,300
oatEAa 540,000& * 504 2,700
O[Xt&H el ] 14,850
O Xt& = X 1,620,000& * 5CH 8,100
O &EXd RFMU 1,350,000 = 5CH4 6,750
202 O4Hl 40,950 40,950
01 =Wl 26,550 26,550
O[=2uoidl] 26,550
ORN2ZE SHUAHL 26,550,000& » 14 26,550
02 EAHNYI 14,400 14,400
OSHAGA FHAYI
200,000& * 62! = 12& 14,400
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203 AR EZ Y| 8,900 0

01 DAL RE=ZY| 3,300 0
OJ|E2dgR=ZY| 3,300,0008! * 19! 3,300

02 HIIALREZY| 5,600 0
OF AL R=ZY| 40,0008 * 320! 1,280
ORM2HAR=ZY| 360,0002 * 122 4,320

=232 J|1=22H| 15,783 15,783

201 LA 11,733 11,733

01 AtR 22l 11,733 11,733
Olger4gd 6.300
oRN2Y 6.300,0002! * 14! 6.300
CIEEL] 5,433
orN2dY 5,433,00021 * 14l 5,433

202 OfH| 4,050 4,050

01 =ZLHOIHI 4,050 4,050
Ol=Woibl] 4,050
SN2Y & 4,050,0002! * 14! 4,050
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